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(A)  Imeafim B) o (C) ufim ®) ™
Which direction are you facing now, if Yéljl turn 270 degrees clockwise from facing west at the beginning ?
(A) North-West (B) South (C) West (D) East

2w 15 et R o e 2, Rl i
- o 2, f g gean Terar 8, O e ot gear & 3R 15 Hiew
AT & | T8 YRR TG & Rz 0 o & 3l 10 it ’ ELE: L
(A) 20X o O
(©) 15 ] (B) 18+
A person walks 15 meters east. {hep Gﬁls i (D) 10t -
15 meters. How far is he from th; sttt poiI:t:? and walks 10 meters, then turns left again and walks

(A) 20 meters M
C m meters

3 fg";ﬁ?‘lf;ﬁ?r ::;mmé.mqﬁm & (D) 10 meters
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(A) 400
The following pie ch g : S (D) 399
oo g pie charts represent the ribution of candidates who were enrolled fi
(out of those enrolled) who passed the exam in different institutes - BN

CANDIDATES = .
ENROLLED = 8550 © CANDIDATES WHO PASSED THE EXAM = 5700

<.
2

' ; ‘ . insti S and P combined and
The difference between'the total number of candidates who passed from insttutes 54

the total number of candidates enrolled from institutes T and R combined is :
(4) 400 (B) 440 @ 80 -
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Read the statements and select the correct alternatiy
Statemen | . Tray plays table tennis.
Statemen 2 Table tennis is a difficult gam"‘[.]
Conclusiop - Tray plays a difficult game.
From the aboye statements, we can conclude th

(A)  The conclusion stated is probably false ug?« (B) The conclusion stated is definitely true
© The conclusion stated is definitely false () (D) No conclusion can be reached

¢ regarding the conclusion.

5. Fefefes i d s SATHf TR @ IR 2 %;a
(A) Frnor ®) Ten ® © = (D) =
Which of the following shapes is different from the rest ?
(A) Triangle (B) Sphere (©) Circle (D) Square

6 Rl 2 s & 9k scrappLe 1 “19318122125° % w9 # g R Sy &, a3t
‘STUNNED? BRI RS TE C— M
?n a certain coded language, if ‘SCRABBLE’ is\q}ded as ‘19318122125°, how will ‘STUNNED? be coded
n that language ?

(A) 192021141545 (B) 192022141454

a2 (©) 192021141454
s @qi%aliﬁfaﬂtmmg%%m’

(D) 192020141545
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(A) == @) (B) =&l wey
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Pointing at a woman, Nirmala said

is Nirmala related to the woman ? .

(A) Sister [:]
&

(B) Cousin
(C) Paternal Aunt [ﬂ] (D) Mother

> “She is the daughter of the only son of the mother of my sister,” How

8. ITTATAEFATR 2 ?Q
What is the next letter ? [ _3]
Prail: g‘%
(A) R (B) P * OT
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9, Fald
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Curtains are related to fabric in the same way a4 blinds are related to _
(A) Slats (B) Lifters (C) Cords (D) Cove

10 Wmﬂa‘umﬂm‘ﬁ,wmﬁwm%; a
() THEFWE (@) T © e () et
Soap is related to Clean in the same Way as Perfume'j3 related to :

K. hness

(A) Neat (B) Smell C) Smart (D) Freshne

GgE? s

(A) R (B) I [(C) =ferwr-afem (D) Su-afm
If you start facing South-West and tum 180 degrees §§ your right, what direction are you facing now ?
(A) South-East (B) North-East Gc) south-West (D) North-West

12, 140 ferenfefat & wearor & arm 7 T 60 faremeff Sifedt i Semr weie @ 2§, 70 fameff e W GerT THe
L &, 71 75 foremeff STTeei i Wer veE w5 § | 3u it 30 BT TR 31N ezeN AT O He &,
18 1 <fifealt 1 3T STTeeER T AT W vHE ¥ 42 1 e i 3 FHER W AN Ot wee ¥, a0t 8 Fr et
SR h Wl T6E § | 9 3T T ITAM F0h 37 SHET 3 71 S S 3t TR Ot Qe ¥ |

In a survey of 140 students, 60 students like to play video games, 70 students like to play indoor games,
and 75 students like to play outdoor games. Additicimlly, 30 students like to play both indoor and outdoor
games, 18 like both video games and outdoor games, 42 play both video games and indoor games, and
8 like all types of games. Use the Venn diagram to fEld the students who play only outdoor games.

(A) 57 (B) 32 {C) 35 (D) 64
13. 9T~ o W HEAE (A, B) T R 38K B + A 7 w1 31 o

Find the missing numbers (A, B) in the series and ﬁ[;ci the value of B + A.

25,36, 49, A, 81, B, 121. E‘;

(A) 146 (B) 125 ©) 152 (D) 164
14. zIﬁ'p>q=pz +q3 3ﬂ'(p<q==p3—q2,?ﬁ(1 >2)<3=

pr>q=p2+q3 andp<q=p3—q2,then(1 >2)<3=

(A) 720 (B) 840 (C) 600 (D) 480
15. ﬁn%f@aawaﬁrmﬂaﬁ%a‘ﬁ%ﬁ:m%agyﬁaﬁmwmaﬁm

RKS9#B2%*E?A8L$I4SV7!C6N@H:';l 3D

E fore aver €, ot @ vl & i vet MMF IR o 2 2

Examine the following sequence closely and respond to the question that follows,

RKS9#B2%*E?A8L$I4SV7!CGN@@'I,-I 3D

How many letters are there, each of which is inirgediately preceded and immediately followed by 2

symbol ? 6]

(A) 2 ®) 3 (©) o D) 1
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20.

R ot i 2 0, 0 7 T R Gy s e

—— ! : 1od combinations, hq -
Given the pattern in the provide t[ | > TOW woulg you express the combination represented

by i?’? ‘_.-'
AZ3B, CY6D, EX9F. 9 U
(A) KXI8L (B) NZZlodl © Gwion (D) 1V15J

ﬁﬂ%ﬂ@sﬁﬁﬂaﬁaﬁ%@agq W‘Q@Wﬁﬁﬁﬁﬂ@mﬁ@mﬁq

1;1,9,27.95: 125,?, 343

(A) 49 (B) 37 © 22 (D) 34

ﬁq%f@aﬁﬁ%qm%mmaﬁqmmﬁﬁv

Which of the following words has its lettefs In an alphabetical order 2

(A) Collops (B) EnvelopE] (C) Bloops (D) Adrops
ﬁﬂmmwmaﬁﬁqaﬁrﬁwﬁmwmwﬁﬁm
k O]—ﬁﬂaﬂm(ﬁﬁﬁma‘m
6 )
113 — frozdm
K7\ 5
A —> faféga |

ﬁa%wﬁaﬁa@ﬁm&aﬁsﬁﬁmmfo
(A) 31 (B) 22 \_‘é (C) 20 (D) 16

Examine the provided diagram and respond to the following question.
8 _’|-——-) Employed people
6 .

92
11 }3 qp—> Backward people
17 \3 7

A —> Educated people

How many individuals considered backward are not educated ?
(A) 31 (B) 22 (C) 20 (D) 16

0.05, 0.5, 0.25, 1.25 =1 WEWH THIIEd (HCF) g1 $ife |
Find the HCF of 0.05, 0.5, 0.25, 1.25.
(A) 125 (B) 0.25 (C) 0.05 (D) 0.5
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27.
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s forfel B FTOORe 3 ST

F D1 T Jr hifre il 4, 6, 7, 8 3R 9§ FA T jeaves the remainder 3 in each case.

Find the smallest number which when divided b 4,6,7,8 and 9 1¢ (D) 504

(A) 501 (B) 510 = (C) 507

& o gferra AT E ?
afe 30 2ot 1 e e 40 29T 6 (5 A les, then what is the loss percentage ?
o ‘ S,
If the cost price of 30 tables is equal to the se]fllrig price of 40 table (D) 30%

(A) 25% (B) 37.5% () 26%

3 o Qe & | 319 98 Qe
@wﬁm@ﬁa}f10ﬁ4aﬁraﬁaﬂtm§ﬁaﬂmﬁa¥f10ﬁ5mﬁaﬁ ‘ﬁ
HT20H 9H Y et ® | ST B AT T wferg = 2 2 y
&) TERr Ty (B) wif wfewrd 12%

19,
© w1125, [ (@) T g%

A fruit seller buys some oranges at the rate of-?j_l.: for 10 and an equal number‘?more at 5 for T 10. Then he
sells the whole ot at the rate of 9 for 20. WHhat is his loss or gain percentage ?

(A) Noloss orno gain &%  (B) Loss percent 12%

(. 19
(C)  Loss percent 11—2% & D) Gain percent 1— %
81 of 100 Canp 81
ot

A TF & T T | sfer o s = 21 R R 2 = 17%%5&&%@%%3111%@%?@%

m%aﬁawmm?ﬁﬁm

Two types of rice rates are T 11/kg and T21/kg. Find the ratio of the two types of rice to obtain a mixture

of rate ¥ 17/kg,

A) 2:1 (B) 2:3 ©) 3:1 D) 1:1
12:5% 1 8 ek v et o b |

(A) 20 B) 10a “t:| ©) 129§ (D) 8y
In how much time will an amount be doubled[s_:}.!the rate of 12.5% 9 -

(A) 20 years (B) 10years ?1} (C) 12years (D) ‘8 years

qﬂ?ﬁqiﬁ%ﬁ@ﬁf%mﬁlsoﬁﬁﬁ*ﬂﬁm%mmoaﬁﬁﬁ R 1 af 50 R 3 S

;ﬁﬁ-ﬁhﬁmmwﬁ@mﬁmm@m%mﬁgﬁmmﬁ%ﬁm AfhT Y Tem o
? @

Indian Railways employed 200 workers to complete a certain work i

work had been done in 50 days, then to complete the whole work in t
workers to be employed ?

(A) 300 (B) 200 ‘(C) 100 (D) 600
Izgwaﬁrlswf‘aaﬁ@mﬁ1oﬁﬁﬁwmﬁlggmaﬂtlsvﬁmimmm‘mﬁﬁﬁwm
& 13 2 o7 3kt 3 iR o w3l e E, A R R e

(A) sofm (B) 60fF (C) 8ofed (D) 70 R

12 men and 18 women can do a work in 10 days. 9 men and 18 women can do the same work in 12 days.
If2 men and 3 women together do the same work, in how many days will they complete the work ?

(A) 50 days (B) 60 days (C) 80days (D) 70 days

n 150 days. 1f only one-fourth of the
ime, what is the number of additional

T
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35.
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(A) 1247 @) 1237 © 1704, (D) 1207

- ] in the
Two trains travel in the same direction at 59f :;mfhr and 32 km/hr and the faster train passes a man 1n
slower train in 16 seconds. Find the lengt h of the faster train,

(A) 124m (B) 123m ©) 170m (D) 120m
67tﬂzttvfa°r2=rmmi‘iaﬁﬁtaﬁ%‘“aﬁmmﬁli?mssrhaé%@zﬁqt@%@aﬁﬁﬁw
FH T T Ty g Fif |

(A) 5.5 (B) 45°HS (@) 6.7 e (D) 8.8 ¥&e

A 67 meters long train crosses a tunnel of length 3‘3; cters in 10 seconds. Find the time for the train to
cross a man standing on a platform of length 65 metei_'§.

(A) 5.5 seconds (B) 4.5 seconds {(‘ )" 6T sscanils (D) 8.8 seconds
Fftaet st dqft s 2. | H o d 2135 3 % ST o e o o4 - 1 3 ST § wrad F § | AR
Ffterer 3t G 2t ot e rermere mifen s € 10,000 , &t wer Sy mifrer 31r a0 T |

Nikhil and Reetu eam in the ratio 2 : 1. They spend ih the ratio 5 : 3 and save in the ratio 4 : 1. Find the
monthly income of each, if the total monthly savings,af both Nikhil and Reetu together is T 10,000.

(A) ¥2,000,%1,000 (B) %8,000,% 4,000 (G) ¥28,000,% 14,000 (D) % 10,000, % 5,000

T TR H O BT ST AR 35 H 20% T F 2, 7w 5 kT § STE0T & T B | T I O St
ity simt @ 30% I T 2, T IfI0T 3ot & 20 3t vy TR e 2 | It &1 & fore stravs

In an examination, a student who gets 20% of the maximum marks

scores 30% of the maximum marks, gets 20 markg more than the p
for passing is : i

fails by 5 marks. Another student who
assing marks. The percentage required

(A) 22% (B) 20% (]C) 42% (D) 27%
qaaﬁrfaam&qza‘raﬁ%%ns'%ﬁatﬂm{nrp&af1,600%13aﬁ%aﬁwawaﬂ%m
(aftieh ¥ & wfre =men) e ifvr | lo)

The simple interest on a certain sum of money for rwo years at 5% is ¥ 1,600,
at the same rate after 3 years, interest compounded ga!nually-

(A) 2,555 (B) %2,355 EH0) T2,520

12-02-2022 ® 11-02-2023 TF 15% Moo frarde 73,000 T HTHR 477 2

The simple interest on ¥ 73,000 at the rate of 15% per annum from 12-02-2022 to | 1-02-2023 is :

(A) 13,450 (B) T 14,750 (C) %12,050 (D) %10,950

T 475 SR 3R 15% & TR B O St we et we 2 2

What is the discount on a pair of shoes marked at 9475 and discounted at 15% 2

(A) T71.25 (B) ¥75.25 Ao =10 (D) 72

O FHIAR 0 w3 Sifehe T8 T 10% it gz 341 & AR G2 S 1w 9t 896 7 Ry e e & 1
mﬁ-ﬁﬁmaﬁaw%mﬁf%mow [T e 8, it 3t e e 2 o

A shopkeeper allows a discount of 10% on the mﬁﬂ%’d price of an item but charges a sales tax of 8% on
0.
3%}

Find the compound interest

(D) %2,522

the discounted price. If the customer pays ¥ 34,020 as the price including the sales tax, then what is the
marked price ?

G
(A} ¥39,000 (B) ¥ 38,000 “eC) 34,000 (D) %35,000

____--__----———-————-—---__...__.,-_-..-.-.-.__...,______..-—
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40.

41.

42.

7fe x 3 -}(xi(})ﬂaﬂﬂﬂm%,ﬁxze'ﬁt ;15 a2

i _ 1 ...
If the average of x and % (x #0) 1s m, then the average of x* and o

(A) 2m?-1 (B) 2m’+1 () 1-3m’ ) -0

fe O ST T HEAT o AEA 132 B, B weelt st sifim el @ S g N |

If the average of 9 consecutive €Ven Numbers jg 132, find the difference between the first and the last

numbers.

(A) 16 (B) 18 ©) 19 (D) 15
W%Hﬁfﬁ%mﬂﬁffﬁ%ﬁﬁ%qﬂuﬂm,@mﬁ#g}I,ZOOﬁGWWW@ﬁEW%IW
a1 wfer feram wrfves oo = or ? <]

As a result of 25% hike in the price of rice per kg, a pequ_ll is unable to purchase 6 kg more rice for
% 1,200. What was the original price of rice per kg ? 75:
"

(A) T50 (B) 60 (©) %30, (D) T40
ﬁ%wawmm@)%wmﬁﬁﬁwmwmﬁﬁﬁw
TR () T FIE &, ol RO ST (- rrer) 8 ot 01 2 9

(A) g () (B) RS @) () e eeRE) (D) st et

If you have a regular icosahedron and you slice it along a plane that intersects six of its faces, what is the
shape of the resulting cross-section ? .

(A) Pentagon (B) Trapezoid (C) Hexagon (D) Rectangle
Frefattaa staen & 1o se 6 v it | []
Identify the incorrect number in the following series. |

5l

4,718, 71. 34 I
(A) 13 (B) 34 ©) 7% D) 21
P fe i ot ot (o Ao e |

Find out the number of the cubes that are arranged in the figufe given :

&)
>
\<>/
Y 1 :
NN% ‘I
(A) 18 (B) 17 ©) 2}1] (D) 16
wﬁ'?ﬁqmwmaﬁmrmmaa}agﬂma@ﬁ%w%?

If the sum of three consecutive even numbers is 78, what is the second largest number 2
(A) 26 (B) 28 (C) 24 (D) 30

,,
L 7 S (s O

GWZ-24. Page 8 of 24



43, frma AT

Choose the odd one out,

(A) KL (B) QR Ll © az

' (D) FG
4. ST T T S 1 e, o S
Find the mirror image of the figure, if the mir{'ol is placed at XY
(M} '
X G
()
i
i)
Y
(A) E:% &
]
I"v:.j
r’..:-:l l"
;:J
©) ]
+3 (D)
45. 3mfq 5 Byt < wen Jm ifvr
Find the number of triangles in the figure. [~-1
)
s
14
)
)
(A) 9 B) 8 L
®) © 12 (D) 16
46' mﬁ- ‘ )
SR ST 3 5 T Aot 3 ey SHRT W 3y T gl 3 2 17 7w e s @ R R
Haftra g 2
(A) =& (B) & © i (D) T
Pointing towards Aneesh, a woman said, “His mother is the only daughter of my mother.” How is the
woman related to Aneesh ?
(A) Sister (B) Daughter (C) Mother (D) Grandmother
L A e

Page 9 of 24
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L] =R 3 ¥ el T
b= i e | fow T FE A TH Ay
1,2, 3, 4) STET-3Ta B TAd & ﬁa,ﬁﬁr{ AR T
47. jﬁﬁ%ﬁ%q%maﬁs%ﬂﬁﬁﬁuﬁw 'l|ﬁuaqﬁﬁ9r%ﬁ§=ﬁ%agaaaﬁs%wﬁ%ﬁm
ek N
; ; ) - )
(A) |-, 2%, 3 -G 4 - l-(i) | — e, 2 gg:; T, 4 s
(C) 1-39,2 -3, 3 -G, 4 - () 13,2 -3, 3 T, 4 |
Four people (1, 2, 3, 4) cach pick & different fruijt — gppic, banana, cherry and date. The person who picked
the agplc is next to the person who picked the banans and not next to the person who picked the date. The

person who picked the cherry is next to the person who picked the date.
The correct combination is :

(A) 1-Cherry, 2 —Banana, 3 —Date, 4 — Apple (B) 1-Banana,2— Apple, 3 — Date, 4 — Cherry
(C) 1-Apple, 2 -Banana, 3 —Date, 4 — Cherry (D) 1-Banana, 2 — Cherry, 3 — Date, 4 _ Apple
48. e o veeft ampfr () # UM gaheh & gty St TS o T |

Find out which of the figures can be formed from the pieces given in the first figure (X).

L]

W L

i

?g ()

L]

o

X) &
(A) (B) (C) (D)

49.  FEH dEand 31 Fif |

Find the dissimilar numbers, -
(A) 16,25 (B) 49, 8] @) 8,27 (D) 4,9
50, ﬁ:r%%aﬁﬂaﬁq-mmféﬂ%maﬁ,waﬁaﬂt%ﬁm@m%ﬁamﬁm%?

Which of the following diagramy/set indicates the rel:gt‘i}m between women, mothers and parents ?

c;*x
k3
(4) GED @)
0
&)
(©) (D)
51 wgw QU i
mﬁ:‘m: :tﬁ@f:?
A) fiw B) i © & (D)

Complete the analogy.
Glove : Hand : : Sock - T
(A) Head (B) Arm ) T R

—-——
________________________________
——————————————————————————————————————————————



52. WGE W HINT |
steeg-amE ; Fafer I ; : Maran ; ?
(A) &R (B) ®aTS STl (C) wg=ht (D) @wfhe
Complete the analogy.
Astronaut : Spacecraft : : Diver : ?

(A) Car (B) Airplane (C) Submarine (D) Bicycle

53. qmﬁﬁ%iaaﬁmﬁsmﬁu%ﬂ%aﬁwmgﬁ:gma(@mmuﬁ?{wﬁmw%mftumﬁa:rgsrwmz
(P -HEFT) T SATHFT L 7
(A) g (B) fcrotaes (C) v (D) I

A cylinder is intersected by a plane inclined at an angle of "degrees to its axis. What is the shape of the
resulting cross-section ? :

(A) Ellipse (B) Hyperbola (©) Pagcbola (D) Circle
54. 3R CATHFIFITDBUR, 61 DOG FT R FT2 2 i
If the code for CAT is DBU, what is the code for DOG ? :

(A) EPF (B) EPH (©) DBE: (D) EOF
55. ﬁg%agm,mo,1,2,3,4ﬁm:A,B,C,D,E§mg’ThTw%|[(B+E)-(D+A)]$rm=ﬁm
I |

According to the code, di
[(B+E)-(D+A)].
(A) 2 (B) 3

gits 0, 1,2, 3, 4 are represented by A, B, C, D, E respectively. Find the value of

© 1 (D) -2
56.  Ed T STTE wE w4 anft 0 N
What will be the next number in the series ? 'q
3,6, 18,72, 360, ... ]
(A) 2160 (B) 1820 (©) 2180 (D) 1260

57. E:HM%WWA,B,C,D,EWFﬁ,aﬁET%H@% | D U e @ ot £ o fiyr 2 F, Ediad
? 3 U foft 2 C T ahieT ¢ 3 A & fyarfeq 2 ®| B, E & e Wb w2 o
(A) =if (B) umt

© 5 (D) far
In a family of six members, A, B, C, D, E and F, there are two married cou
father of E. F is the grandmother of E and 5 housewi

How is B related to E 2

(A) Mother (B) Aunt (C) Sister (D) Father
38 T SR Sremefy @it o i g B
ﬁmaﬁﬁaﬁaﬁw@wwn
¥ it & e T R <
(A) wwrE (B) Uzt (C) ‘@‘WTH (D) drwH
5. Preafefiaa & & - TR TR 2 0 O
(A) Ty (B) &% (©) FFma (D) a9
60. S 3 e v e 8, e o
(A) ey _ (B) WeTOr (C) FeqymY D) Wgpstew
S S — s

Page 11 of 24
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62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72

3.

14,

75.

s ST TR T A L '
(Ts;ggéw ® FIT-FOW () g (D) WA

» ﬁqﬁwmﬁs—mmﬁmﬂs‘f%?
@) T B © m (D) 79
e e e o T gATE?
(A) T & T far (B) AT ST AT ST WAl
() T e e (D) AT YT F&l &
e ] T TR o BRI T Bl ST sfren v - W 2 2
(A T Bl © (D) dww

(a) TETEEEgER  (8) FeIe “] ©) zhEwE@s=[ (D) gheHeTdw
Wﬁﬁﬁ‘m@'mwwﬁﬁ—ﬁﬂ%ﬁ?—m%? )

(A) F:+TE (B) ¥HLE+4= }; (C) T4 +3g (D) ¥7: + 3
2019 1 HTfe SFHTEHT TR fohe TeHTERT ] Ty oy 0

() RS (B) WFT S () o (D) it g
LI H R-AT T © 2 -

(A) fam (B) wgsiifs (C) =fivig (D) degew
T T T 8T T 7 R

(A) HT FSR TET HEAl . (B) &&= STt anfiar feamr

(C) TIEaTdl BT [;-'t (D) FHTEYEF §Y ¥ WG 8T
ﬁn%@aﬁﬁﬁ:.m‘m’mmqﬁwﬁl T

(A) & ® @ - (© g (D) &fit
HH-AT q0 S TR R 9 ()

A) 3 B) z [} © @ (D)

I 3 fora ¥ e s e E:)

(A) T S (B) ot s[ahrer (C) ATE MdshTed (D) 1Yt gFreT
ferelt e €t st v e AT ¥ Rt s wAET

(A) 3 B) v (C) et (D) ¥

ﬁw%%amﬁﬁugﬁm%qﬁaﬁqﬁaﬂﬁmmﬁh%qmﬁ?
JeF — gHThT, SEIED m,ﬁﬁw Ll

(A) 3TT=HT, 3T, 3T, <t e  an (B) 3Teh, I, AT, TR

(C) 3T, 1, a1, 1 E (D) 7T, AT, HTH, 3

[ 9T 1 =41 i | 9

(&) TR w0 A A e

©) W¥EdERmoaiy) @  (O) ITRATIGTERI@AT



76.

77.

78.

79.

80.

; g‘ﬁa‘rﬁwﬁﬁﬁ'ﬂﬁq
e (®
‘W!ﬂﬁ‘%mﬁmmﬂﬁq
(a) e (B) T
Frerferfiaa # & AT 6 Y6 T HT =G HIMC :
(A) T H 3T S & |
(C) T H 3 S & |
frameus o R

A () ®) (!)

mmﬁ‘m’mwmﬁmﬁwﬁw%?

(C) ®,<im (D) wETER, ST

(C) TR (D) iz

(B) Wi s e #
(D) STRA H T S & |

© () @) (-)

(A) =3, T TSR | < (B) 3712 97 andt s s |
(C) T st it s | [] (D) &% T srgd 31 2 |
8l YHERT & AR E - 3R |

(A) FeqaE (B) g=tawm () (C) weafuy (D) 3T
82. IFTE’ YeR F gWH T R 0 Q

A) T ®) fm g (C) Fdewargan (D) T STy
3. Frvfeliam & & e w2 qftein 2 9

(A) & (B) {ife ©) &m (D) =&
84. agaﬁélaﬂﬁﬁﬁaé%émsawﬁﬁ:—mm%?

(A) THEREIE  (B) =y adnm (©) wfeadam (D) B/ S4uH
85. I — axiter wrea-qm o et e

(A) =% - oy (B) 7d - fre

(©) ﬁmﬁa%-a:rgﬁq DQ (D) T - Froe
86. °mwﬁw5ﬁ@am’-a‘lﬁ%w%ﬁn:

(A) HHIEd T W o= Sy ] (B) F31T W Qg

(C) It q = oy ol (D) HFe & T s ¥ fqw dey
87. o Wt & vt st w3 v eyt

(A) HIHY= (B) vz (C) g (D) gy
88. ﬁmﬁ“ﬂ“@aﬁﬁraﬁq—@rwﬁm?ﬁ%?

(A) T (B) g (C) *vam (D) W
89. TWTH FT nifeaw aef & .

(A) fame (B) fa=de 9] (C) wfig

(M.H. 909 94 Terivr way)

ilil’ EERE g
e i %H’?ﬁ ek T o BT % oge o ﬁﬁﬁ%mﬁqganq%aﬁtsﬂmﬁ
Gl bl mw‘ﬁgfﬁﬂl%lw T e T T A B R
A e e e S S——
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76, T T 3 T € el et g

T (B) T, et (©) =, = (D) &=, st=an
(A) y SR

e 3152 ¥ fore wataaT=f 35 g )
77. (T;‘T = (B) ww ©) R (D) 3z

forerferRaa & & ATt 3 Y& €9 o= R
RS IENAERG-)

© W mRE|
79. formEsfER:

A) () ®) (1) © (,)
80. T AT H 3BT w1z v e farder F 4 gamr a9

(A) 3TV, T AT | <]

(B) W& & 3riet st 8 |
(D) e & atent sife § |

D) (-)

(B) =1 9% anit s
(©) o =1 R it ey | ] (D) & v wga a1 2
81, YETR ¥ AR - a2 ’
(A) TS (B) g=raw () (C) wem fay (D) T
82. ‘I o1 1 wHR=RR T &

®) (©) 7T (D) ¥ Sreroy
83. ﬁn%&gaﬁﬁﬁq-mmg%n%?
A) & (B) Hfy ©€) & (D) ==
84. %méﬁﬁﬁﬁﬁaﬁ%éﬂlwwﬁaﬁqmm%?
(A) THFRINE  (B) g adae (C) dfemy adum (D) &=y FdqH

85. i - sty m-gmmaﬁﬁm%q:
(A) T - v s

B) 7@ - frex

©) frrEEF - ayfy Q (D) 3t — e
86. ‘annwﬁqqaﬁ@‘ram’ﬁﬁm‘rﬁﬁw%ém:

(A) geﬁaﬂaﬁqrmam O] (B) @n‘@aa;(gma;qm

(C) SR AT TG o (D) HF & Ty s % foyw g
87. ‘ﬁﬁm@wwﬁ’%m@mﬁi‘:

(A) ®HYS (B) gy (C) Hurez (D) g
88. ﬁwl%fﬁ@aﬁ@raﬁq-ﬁmﬁmwﬁ%?

(A) IvE (B) 3frer (C) IER (D) T
89.  TmTE w1 mfeae ayef 2

(A) fam (B) fase [}] (C) wfiw (D) foea
(T.H. 90 R 94 TTerivr way h
v 1 Sfes s mffrs



8, o T T T e oy e 7 S i, et 1 & G | e shfes i

%|WWﬁ§$aﬁm%gﬁmﬁ%aﬁtmmmﬂﬁaﬁ%Wﬁm%l
7 @t A

91.
92.
93.

94.

95.

96.

9%

98.

- -

7T 9 S | SR o gy g oY &R o SR R, T ot sretr s oy |

|
P ) GO &1 el ST AT 8, Flifen : |

e, s, e i s 2 & P &

EB) Wﬁmmﬁmﬁﬂﬁgmi

©) P H A A F A AT

(D) ﬂﬁaﬁqﬁaﬂwmﬁﬁﬁw%l
mﬁmﬁzﬁnﬂmﬁﬁmﬁwwiwaﬁﬁ@ '

(Aj &5 ST g o1 &Jar o1 ST | (B) aa@.-]namﬁa?rﬁam%mmu

-

(C) SETH T I R A feAT A (D) ﬂgﬂaqnﬁﬂmﬁn

1 T 9T s i AT 36 T sy i #, 7T
(A) T faae i e e @ ynfia 2 (B) SHESATCHITATE W BT ST 2 |

(C) WA S5 Wi TIEH T R | (D) ag%@‘fmﬂﬁﬁmmﬁl?ﬁwmﬁl
Tt fergrr e 7 waifoes TeE T R ®)

(A) Sfa &1 whiT ferehm | (B) e Sftae a1 Seamad |

(C) itaw =1 Sufte witfaes faema | (D) it = watdor s |

T Sa &1 AT T & 8 T Thar € 2

(A) WH-SHTA 1 QU1 T WTH ek (B) WTHE BT &7 e e

(C) ifae Sftem-sea =t et ek (D) %@-m&mqﬁﬁﬁzﬁ%ﬂm

_ _ i
T fth 3 U G I 25% T T AT | 4 98 5 35%%&@% 3T 8 T 732 &0 T A=, A1 W 36%
T T Il | TS 3T 5 T 47 91 2 -

o ;
A person sold a horse at a gain of 25%. Had he bought it fogjﬁ% less and sold it for ¥ 732 less, he would
have made a profit of 36%. The cost price of the horse was :~

(A) T1,500 (B) ¥1,800 (C) T2500 (D) %2,000

, &)

A% EXAMINATION %I VCZNRMZGRLM ¥ &9 e, e T 2, 3 WRITTEN 1 Pt st
e st 9

If EXAMINATION is coded as VCZNRMZGRLM, then how will WRITTEN be coded ?

(A) DIPGGMN (B) DIUGGMV (C) IDGRGMV (D) DIRGGVM

U 1 H, A1 SR 107 oA § 36d e w R | wﬁﬁﬁw%?

In a class, Sambu is ranked 10th from the top and 36th fror;i}he bottom. How many students are there in
the class ? :

(A) 43 (B) 44 (C) 4% (D) 47
K LHITeli R 3 M, L frama 3| N, K 132, 5@ O, MR AT | OF K A Fnaiau 3 9
(A) T (B) =t (C) @4 (D) H{

K'is L’s wife and M is L’s sister. N is the daughter of K, wgge O is M’s mother. What is the relation of O
toK ?

(A) Father (B) Mother (C) Mother-in-law (D) Father-in-law

- e e e =
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99. gEeTH I W 1 hifse 6, 24, 120, 720,20 3
- Find the next number in the series 6, 24, 120, 7 ,‘:---ﬂ s

(A) 5400 (B) 5040 25(C) 5440 (D) 5004
100. a‘}néajawﬁﬁﬁm(%ﬂaﬁmﬁﬁ.q: r%
Find the odd one out from the given series : .;5
486, 482, 478, 474, 472, 466, 462 &
(A) 474 (B) 472 “(C) 478 (D) 466
101. qmwsoﬁﬁﬁnﬁuuﬁfﬁéaﬁnﬁrﬁzsoﬁ%ﬁtﬂaﬁ@mm%|wqﬁmﬁﬁ% . )
(A) 4% (B) 6% ©) 5% D) 7 S

to complete the journey ?
(A) 4 hours (B) 6 hours ..{C) 5 hours D) 7o

102. Frefoified sTgem & o vemr A 2 9 ¢
What is the missing number in the following sequence ?
3, 18, 90, 360, 1080, 2160, ,0 e
(A) 360 B) 0 f)(C) 2160 (D) 1080

103. ofaet & el S T AR 11,39, 75, 110, | ]
Find the next number in the series 1 1,39,75, 1 19,25 2
(A) 181 (B) 191 ‘*i(C) 161 (D) 171

104. 3f INSECT ' JOTFDU, HOUSEFLY %t IPVTFGMZ & &7 & shearg i sy 2

If INSECT is coded as JOTFDU, HOUSEFLY as IPVTFGMZ, then BUTTERFLY will be coded as :
(A) CVUUFSGMZ (B) CVUUSGMZF (C) BVUUGMSG (D) GMGUUCVF

105. If¢ 95474 F KGFIF foraTsmaT 8, 9 82143 33 fn ST 9
1695474 is written as KGFIF, then how wil] 82143 be written ?

(A) JDCEF (B) JDCFE .Xo core (D) JCDEF
106. A,Baﬂtcamaﬂmamﬁo%a‘rm%|ﬁA%mew3o%ﬁm%mBaﬁtcmm
a5 70 fheimm &, @ B a2 0 N

(A) 21 ferciomg (B) 20 foreiramy 3(C) 17 Framy (D) 18 foreiramy
The average weight of A, B and C is 60 kg. If the'-:g.veragc weight of A and B is 30 kg and that of B and
C is 70 kg, then what is the weight of B ?

(A) 21kg (B) 20kg (C) 17kg (D) 18kg

107. 40 ST i o FET H, 15%%%&%@115@3%@?&%aﬂtswaﬁi@aéaﬁlzﬁaﬁﬁﬁ
F15 ot Tt T Wer aret ol 6 dEd -

In a class of 40 students, 15 students play cricket and 15 students play tennis, and 5 students play both the
games. Then the number of students who play neither of the two games is :
(A) 25 (B) 35 (C) 15 (D) 10

GWZ-24, Page 15 of 24



o 1 fore reer 3 R A (S T ) ) gty 2, it iven o o (dfreseergh sttt T
O, o fore e ek e w1 2

T TSR R 2 2t W 3 R 8 % 490 v e o o i 5 R, st 200
meﬁgm@éﬁﬁﬁ@{ﬁaﬁuﬁmaﬁﬁa@ﬁﬁwﬁaﬁq?
(A) T4845FT (B) T5254Hs &% (C) T5892He (D) %5500 IS

The given pie chart illustrates the various TE;,L{rces of funding (in ¥ crores) that the Public Works
Department (PWD) plans to collect for its Phasé.] Projects.

]

)
G

External Assistance

11,486 [
Market Borrowing
29,952
oll

®)

To support the project with € 4910 crores through toll collection by an outsourced agency, allowing for a
maximum 20% commission, what is the total amount that the outsourced agency should be permitted to

collect ?
(A) T 4845 crores (B) T 5254 crores (C) T 5892 crores (D) %5500 crores
109. Y, XFEAR Sz Hamidd|akp, ZHIHur AR, A p, Y Ffrm i o
(A) JutgE (B) efqurufim (C) Iw-ufdm (D) féor.ef
Y is in the East of X which is in the North of Z. If P is in the South of Z, then in which direction of Yis P ?
(A) North-East (B) South-West (C) North-West (D) South-East

.--———--—--—-—--—-———————--—____-_--......_.__..__._-...._____-—-—-_-.._-—--__----__
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110. Trafafiad @ 1 et e 3id Hifs |

Find the incorrect number in the following series.
1,12, 144, 1782, 20736

(A) 144 (B) 12

(C) 20736 (D) 1782
11, T ST O T 1 e g0 A, T8 WA ¥ R oy 3 o 3w V" < v &
2
(%A) e ®) =t (©) fonr (D) Wi |
Introducing a boy, a girl said, “He is the son of the daughter of the father of my uncle.” How is the girl
related to the boy ?
(A) Sister (B) Mother - ) Father (D) Brother
112. 3 afem 1 2for-afim & s Rar o, o sy e feam st 9
(A) ey (B) firorafim ) Imafm (D) Ieqd
If West is replaced by South-West, then North wilj bEyeplaced by
(A) South (B) South-West [[@) North-West (D) North-East
113, T ThIele Ser Ree Ryt Eg
(A) T g ) T Hefaw
(C) i wfd (D) Terfue gret
Who wrote “The Scarlet Letter” ¢
(A) Mark Twain (B) Herman Melville
(C) Washington Irving ) Nathaniel Hawthorne
114, Wﬁ%aﬂamﬁwﬁﬁmm% %qmatﬁ%m‘ézﬁﬁﬁ'@awmgﬁm%?
(A) Fmz (B) $=mmy ) = (D) FagF
Which social media platform has feature called « aks” to ¢ncourage frequent Communication between
users ? E‘:‘
(A) Snapchat (B) Instagram Elb) Twitter (D) Facebook
115. T TSR 1 T et Reergy ot 9 o3
(A) R (B) ®C) s (D) g
The capital of the Pallava dynasty was located at
(A) Thanjavur (B) Mysore (©) Kanchipuram (D) Maduraj
116. WM%(FSB)WW%?
A ugﬁmsﬁa%aﬁaﬁﬁ?nammw |\|
(B) T T TR 2 el o svm e e |
(©) mgﬁmm%%%ﬁ%hmﬁﬁ FATR
(D) 1% fordtar feercen gffora v 2 e
What does the F inancial Stability Board (FSB) do 'E‘)
(A) It provides financial support to developing cuptries,
B) 1t manages the foreign exchange reserves of #¥member countries,
(C) It regulates interest rates for central banks woﬁdwide.
(D) It ensures financia] stability,
GWz-24 "
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117 et 3 FTE CEra 3 & 8 I T T AT 2 (D) AfanT T

(A) dfEugEm  (B) R (C) wEEd @A
Who was chosen as the brand ambassador of GST ? '
(A) Deepika Padukone (B) Shilpa Shetty (C) Shah Rukh Khan (D) Amitabh Bachchay

118, Freforfaa # & s -of v e 3R T F o fy oy 29 . l
(A) S AT (B) 4ofif@@T® () Ramhrs A (D) TR TS

Which among the following lines is a boundary between France and Germany ?

(A) K-WLine (B) 49" Parallel Line (C) Siegfried Line (D) Senger Line
119, ﬁ%mmnmﬁ%wm(DGFT)%aw%amhm%o
(A) H&H, T IR TEIH ITH HAT 7]
(B) v T ]
Gl 0
(D) ST & JeT AT n0

The Directorate General of Foreign Trade (DGFT) domes under which Ministry ?
(A) Ministry of Mirco, Small & Medium Entergfrides

(B) Ministry of External Affairs ol

(C) Ministry of Finance ' (&)

(D) Ministry of Commerce and Industry

120. JTHIY] STt I oh o0 hiH-6T ot STTava & 9

(A) Tafem B) TEEE (C) wEH (D) Ftfrm

Which element is essential for the production of El.]clcar energy ?

(A) Silicon (B) Hydrogen (C) Carbon (D) Uranium
121. 10T IR W9 o o Rt 3 siarta armar & 2 E]

(A) <3l 59 (B) 5y

(C) iR (-) (D) it I TR

NOIDA comes under which district of Uttar Pra:ilﬁh ?

(A) Bulandshahar P o) (B) Mathura

(C) Ghaziabad ' ©) (D) Gautam-Buddha Nagar
122. T e feag v wm ST 2 9

(A) 3 3R (B) 15 &g (C) 10 Hag=R (D) 9 3agER

When is World Post Day celebrated ?

(A) 3™ October (B) 15™ October E] ©) 10 October (D) 9™ October
123, FAUHTREEE@FRTEIAL? <]

(A) TEAR ®) wrafie ] © Ferem (D) i vme

Who heads the Union Ministry of Home Affairs as)of June 2024 ?
(A) NarendraModi  (B) Rajnath Singh (7) (C) Nityanand Rai (D) Amit Shah

124. e e v <6y woma form o o g oft 2 E}
The Indian National Congress was founded in WE, h year ?
(A) 1905 (B) 1947 ©) 1857 (D) 1885
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125. T ST T8 BaTE TSN el T e o 2 d
(A) W (F) _ E] (B) Tl ()
(© faeeh | (D) T (HIcTHTaT)
Where was India’s first airport located ? CJ
(A) Madras (Chennai) [[] (B) Bombay (Mumbai)
(C) Delhi o2} (D) Calcutta (Kolkata)
.. @
126. T & @@l & for, Faredt 8, GST Ustehtor & fore dvires fefire @fvm w2 2
(A) T20TE (B) TS50@ (C) T5@@ (D) T10T@E
What is the threshold limit for GST registration for businesses in India, for services ?
(A) %20 lakhs (B) %50 lakhs El (C) %5 lakhs (D) T 10 lakhs
127. ﬁwiamﬁqﬂs?ﬁma%ﬁlﬁww&ﬁ R T HGh TIA T THFH O AT A HL H
i o # weg ¥ R R ST 2 | .
(A) it RERi B) FefEfi & () VPN (D) fafaim
uses images with malicious files in thfjl meant to help a hacker steal your account information
or infect your computer. o
(A) Image phishing (B) Catfishing @ (C) VPN (D) Smishing
128. TR TORTSH 3 TSTUTHT T 8 2 |
(A) ufsae fad (B) oM (C) WRE (D) TEH
What is the capital of Republic of Croatia ?
(A) Mexico City (B) Dubrovnik [[] (C) Zagreb (D) Amsterdam

129. Wa@ﬁwmmmaﬂﬁa%@am% ?
(A) T o Gt e 2 g o e < e 7 e A 2
(B) ¥E AW H A Fi A gaRF@ Rl ()
(C) T ARt Y dferd @adl ht 3R AL TeaT § TEaT ST © |
(D) TR ISR o
In what ways does information sharing become imﬁonant in fighting terrorism ?
(A) Itallows terrorist organizations to coordinate attacks more effectively through security agencies.

- (B) It improves relations with other countries.
(C) It allows authorities to identify potential threats more quickly.

(D) It strengthens the military’s capabilities.

130. T 3 fora TSt 3% 1 ot T Al iﬁ”%wﬁmm%?

(A) =R (B) eH (C) wure - (D) FE
Which of India’s neighbouring country is known as the “Land of Thunder Dragon” ?
(A) Myanmar (B) Bhutan (C) Nepal (D) Bangladesh )



. o 3 & - EeTel AT T 78 R 9

(A) F=TH (B) TE'?'T- I (C) zfaet (D) ET®
Which of the following is not a Social Medi atform ? )
- (A) Instagram (B) Google é (C) Twitter (0 ‘Fiveboo
132, Fraferfaa § & e TR 1 S Hay () T 2 9
(A) T TG B) AN O (© @iy (D) S sewr
Which of the following types of pollution is

qultural (accelerated) eutrophication ? .
(A) Soil pollution (B) Waterpollutio:fj_ (C) Noise pollution (D) Thermal pollution
S)

133. 1946 ¥ fomgeliaor & SR RBI & Tt & 9 9
(A) MawRs ®) ek
(C) TNwor BrFTer wTEE . (D) @i geara
Who was the Governor of RBI during the demonetization in 1946 2
i e (B) Shaktikanta Das
(C) Chintaman Dwarakanath Deshmukh (O} D. Subbasas

134, T Gl 1 - mw%ﬁ%ﬁwﬁ@ﬁ%m% ?

(A) SITIV (B) WV 8 (©) wmn (D) MW III
Which part of the Indian Constitution deals with the Directive Principles of State Policy ?
(A) PartIV (B) PartVv (C) Partll (D) Part 111
oS
135. Teas “w e freretie” faads gmor vt oid oft 0 ©)
(A) AR TEE (B) Hd=ia Bt Froar
(C) weredt am (D) Aferefraror

The book ‘A Life Misspent” was written by whom ?
(A) Jawaharlal Nehru

(C) Mahadevi Verma

136. ST o et < e o %

!
(A) W%Wm@%mwuﬁh@@m)
(B) vad ST T Yeh1oi (foram)

(B) Suryakant Tripathi ‘Nirala’
(D) Maithilisharan Gupt

(C) 1t gy it 3ufeafy 8
(D) 3T o ot et srhrT it v oS

The main reason for the blueness of the sky is@)
(A) the scattering of sunlight by air molecules
(B) the scattering of white light

(C) the presence of W

(D)

ater vapour
the absorption of blye light due to the air

137. mwm,ﬁmmﬁﬁﬁmaw,%ﬂ@aﬁsﬁﬁ?

(A) T B) w3 (©) et (D) et

Raman Subba Row, who passed away recently, was associated with which sport ? "

(A)_Cricket _ ) TbleTeonls . . O Foofbell  ~  (O) Hodey .-
OWGA, et



REIECEIE Lk )
(A) TREh (B) o (C) Werdl (D) e
What is the name of the longest river in Peninsular India ?
(A)  Godavari (B) Krishna (C) Mahanadi (D) Narmada
139. NHRC#H qot sqamr
(A) T AR gz whe, s ]
(B) et T T iy, e ]
(©) et e e e, s [7“
(D) Tt R T e, $fean 7
What is the full form of NHRC ? )
(A) National Humanity Rights Commission, Indja:
(B) National Human Righteous Commission, Ir{:&jg
©)

National Human Rights Commission, India (:3)
(D) Natural Human Rights Commission, India

140. ¥ 1985 Tl HH-TT iy ad st e o7
(A) = (B) ufee ©) IEEm (D) Fa1

The year 1985 was declared as the International Year of
(A) Children

(B) Women _(C) Blind (D) Youth

141. a@@mﬁwmﬁuﬁm%}%mmmmaﬁtmﬁﬁmwmﬁ
T el € | ["S..
(A) faBm BE%(B) ToTesh
€) T

E’_)(D) TTATH

research methods allow for in-depth apﬂ further probing and questioning of respondents based
on their responses.

(441
(A) Mixed (3)(B) Qualitative
(C) Action

(D) Quantitative
142, BRIFT I ®TRTE ?

(A) s uEE PRl (B) Sfter iz Uz shfimfes
(C) e vg frad shifimfea (D) I ug Pafeers ot
What is the full form of BRI ? .

(A) Belt and Road Initiative : (B) Basic and Road Initiative

[-«]'(D) Belt and Republic Industry

fefire it ot e i e et o e o v e & e e v
(A) A (B) T fefim ()C) wme =it (D) T

tries to trick specific individuals[ir!_to jeopardizing the security of the organization they
work for. i

(A) Spamming

(C) Beltand Resource Initiative

143.

(B) Spear phishing @(C) Cyberstalking (D) Sneaking
Page 21 of 24



144, e T arstrer gpf Afer o e BT off 2

B D) ®r€ 2002

A) AT 2004 (B) 2004 (©) Eja‘lﬁ 2000 (

‘(»i’hcn was the first ever National Agriculture Policy announced ? (O} Macehi 2002
(A) March 2004 (B) January 2004 (C) July 2000

145, ﬁwmw%m%mmwmmﬁmw
. @_WMWI

The United Nations Commission on Hum
Council for the enforcement of internation

A) 2006 (B) 1998

’ . n Rights
an Rights wag replaced with the United Nations Huma gh
al human rights law in the year

[© 2000 (D) 2001
146. aﬁm%m-magamﬁaﬁ%émﬁsaﬁq%? +]

) B) SRR ;.-::%(C) EECATTEG (D) WFH
Who is the first person to run across Africa ? )
(A) Sisaylemma  (B) Kenenisa Bekele [1J(C) Dennis Kimetto

(D) Russ Cook
il

147. Wﬁ%@mimﬁﬁ%aﬁﬁﬁﬁ@ﬁ%hﬁmﬁ%%mﬁ%@ﬁ
IR 9
(A) R (B) witemem (C) wmhm (D) wfFeEm
The Indian Agricultural i

Research Institute hag dem
basmati varieties protected in India ?

(A) Myanmar (B) Bangladesh

an

h(0) Afsiisinn (D) Pakistan

L

148. -8 Yl oy ey IS ane %m%%—rgmw%?
v 5l
(A) TeWr (B) T~eH t;'-:; (C) weywRy (D) affee
Which Indian state is known for its unique ‘Warli[\.qaintings ?
" (A) Maharashtra (B) Rajasthan (34(C) Madhya Pradesh (D) Odisha
(3)
149. Tt v arigtiss R@ﬁ?ﬁ%%ﬂaﬁmﬁmﬁﬂ%%ﬁwﬁgﬁaﬁ ?
(A) TETs (B) Musr (C) W (D) IRyt
“Chikankari» is a traditional embroidery style that originated in which city of Uttar Pradesh 9
(A) Lucknow (B) Noida [ 1© Prayagraj (D) Varanas;
150. ﬂmmﬁawwﬂwwmﬁaqmw%? 1]
(&) TS W0 €O, 1 vty 0t (B) ¥ % fer
©) Tl waett qare s

' (D) WA & A 1 gfy
What is the Primary cause of ocean acidification } - |
(i ; e
(A)  Absorption of CO, by sea-water 6D (B) Oil SI““b.
(C)  Overfishing " (D) Increase in sea-

water temperature
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